NO2: Demonstrate knowledge of the conventions for
order of operations
Pre-Test Questions

1) 6+3X9 =

2) (7—-5)%x8=
3) 5+4%%x2=

4) 6+ (7—4)%x 22 +5=



NO2: Demonstrate knowledge of the conventions for
order of operations
Pre-Test Answers

1) 6+3X9 =233

2) (7—5)x8=16
3) 5+4+4%x2=37

4) 6+ (7—4)X 22+5=13



NO2: Demonstrate knowledge of the conventions for order
of operations
Post-Test Questions

1) 22—-2X7 =

2) 3+5)x4=
3) 6+ 10% =2 =

4) 10 = (9 —4)x 52— 6 =



NO2: Demonstrate knowledge of the conventions for
order of operations
Post-Test Answers

1) 22—-—2X7 =8

2) (34+5)%x4=32
3) 6+ 10%+2 =756

4) 10=(9—4) X 52— 6 = 44



